Name : _______________
Date: __________

THE SKELETON- Axial : Notes

- The skeleton has two divisions: 

A)The ________________

B) The _____________________________
-Skull, spine



- Bones of upper and lower extremities
  thorax (chest)

   
 (what we often refer to as arms and legs)
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AXIAL:

1.  SKULL – consists of 28 bones in total
- Consists of cranial bones, facial bones and ossicles (3 tiny bones found in each ear).
- Sinuses are spaces or cavities inside some of the cranial bones. Most sinus 

problems occur when mucous membranes in the paranasal (beside nose) 

sinuses get inflamed resulting in SINUSITIS.
- Be familiar with location and structure of the following skull bones:

a)_______________________: Lower jawbone - 
b)_______________________: Upper jawbone.

c)___________________: Forehead bone which also forms upper part of eye sockets.
d)___________________: Two bulging bones that form upper sides and top of skull.

e)________________________: This bone forms the bottom of the back of the skull.
f)________________________: High cheek bone which helps form eye socket.


g) ______________________ : These form the bottom sides of the cranium where the 

        ear is found. Curved mastoid process found at the bottom.
h) ______________________ : Only partly visible where the temple is located, most 




of this bone is found inside toward the cranial cavity.


i) _______________________: Form the bridge of the nose.
- Unlike most joints in the skeleton, the joints (articulations) between most of the skull bones are immovable joints called ____________________



    
- Infants have _________________________________in their skull because the joints 
between the skull bones have not fully finished ossification of the  cartilaginous tissue. This allows for both compression of the skull during child delivery as well as  to allow the brain to grow without pressure build up in the cranial cavity. All fontanels usually fuse by the time a child is 2 years old.
2. SPINE
-The spine consists of 26 separate bones called __________________________
- The spine consist of three main regions:


1) _______________________ (________________) = _____________vertebrae.

2) ____________________(upper back for rib attachment) = ___________vertebrae.

3) _________________(_____________________) = __________vertebrae.
- Large_____________________, and small ________________ to complete spine.
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- Each vertebra acts to house and protect the spinal cord.
- Be familiar with identifying the following parts of a vertebra:


a)___________________________

d) ___________________________

b) _______________________ processes
e) Vertebral ___________________


c) __________________articular processes  f) _______________ articular processes
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3. THORAX
- Consist of _________________________________ (rib cage) along with the sternum (breast bone). Provides protection for heart and lungs.

- Top 7 pairs of ribs attach directly onto the sternum with their own costal cartilage. These ribs are called _____________________________ (T1 ( T7)

- Pairs 8-10, take their costal cartilage and attach indirectly to the breast bone by attaching their costal cartilage onto the costal rib cartilage superior to them.  These 3 pairs of ribs are called _____________________________ (T8 ( T10)
- Bottom two pairs do not attach anteriorly onto the sternum, but instead, are only attached dorsally onto the T11 and T12.  These last two pairs of most inferior ribs are called _____________________________

-The sternum itself consist of three bones fused together, the____________________, 


____________________ and the _______________________________________
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F. _____________________





E. _________________________





I.___________________





B.______________





A._______________





H. __________________





G. _____________________





D. _______________________





C. ___________________
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